Word Problems: Adding and Subtracting

Solve the problems using addition and subtraction

Ryan is having a party for his birthday. 65 guests leave. 34 guests are still Abigail bought 65 red balloons and 33 yellow ballons for her birthday party.
at the party. How many guests in total were at the party? How many balloons does Abigail have?

Ryan is having a party for his birthday. 42 guests leave. 40 guests are still Abigail bought 63 red balloons and 32 yellow ballons for her birthday party.
at the party. How many guests in total were at the party? How many balloons does Abigail have?

Paul has $50 in his wallet. He finds $36 in his piggy bank. How much Paul has $30 in his wallet. He finds $41 in his piggy bank. How much
money does Paul have? money does Paul have?
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